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SWAMY VIVEKANANDA RURAL PRE-UNIVERSITY COLLEGE
CHANDAPURA BANGALORE-99
II PUC 2™ MONTHLY TEST - JULY 2019
TIME: 1 HOUR SUBJECT-ECONOMICS _Marks:25
PART=A

I. Answer the following questions. (each question caries one mark) 1X5=5

1. Traditionally, the subject matter of economics has been studied under the following
broad branches. -

TOTTRONITN VHFIYT AFoDH THFH, B V0B WO RANYY YHOLT =
RREONT, 7P e

= & r
a) Micro and macro economics * b) positive and normative econoni?cs" Co t":p
Aoy, DY AW ST TRDE HH, BREO eTFmY s _
¢) Deductive and inductive d) none of the above & %
~ AN DY) v DedT clePBR ©Y \ &\, .., o T
2. The change in output per unit of change in the input is called N\ G &

., -
20T $TRRG TIPUEE WCHIHR NWIITCYOS WECETHBOD, &er@gﬂc\ﬁg"*" °

a) Marginal product b) average product 3o
2eTRET NIT, Xop%0 3T,
¢) Total product d) Product
a3, w3, w3,
3. As income increases, the demand curve for normal goods shifis towards .......
smoh FREod TBWE, ICWRY BEREODD .o .| s, Boriewes

4. In the long run, all inputs are.......
QEFTOFBOODY TR BWOINLD vvvenreneen

5. What is demand?
He8% Q0TBeD?

PART -B
II. Answer any 5 of the following questions in about 4 sentences. 2x5=10

" 6. What do you mean by price elasticity of demand?
B Send ﬂ&ax%ﬁﬁ:gs 2083807

7. What do you mean by inferior goods? Give example.
9T oD XNoBnYowBed 7 NmeITE dnd.

8. What is normative economics?
RnRTO ﬁtﬁt—'wg DPexrd QoudeDd?
9. What is isoquant?
pATRY) wgﬁa‘ ge8 Qowdesd?

10. Give the meaning of the concepts of short run and long run?
YRBH DB, DeFrSH TOBOINY ¥FF Q.
1 1. Mention the types of returns to scale?
BIPo JIT JIGRIR, 98
PART -C
II1. Answer Any 1 of the following in about 12 sentences. 4X1=4

12. Explain the derivation of slope of the budget line with help of diagram.
weder Seadod wOEOT AFI0HM), Sese UIEROOA JTOR.




13. Write a brief note on returns to scale.
Zegond THwnd Wi womd Xogs 3Triodd, LBDd.

PART -D
IV. Answer Any 1 of the following in about 20 sentences.

14. Explain the optimal choice of consumer with the help of diagram.
whgeenoh ¢Tgr sohodbs), Seaudnaobn H[OA.

15. Explain the law of variable proportions with the help of a diagram.
LBRMHT VOIWEONRT ICHIITY, Sesso WIBROOA DTOK.

6X1=6

t



SWAMY VIVEKANANDA RURAL PRE-UNIVERSITY COLLEGE
CHANDAPURA BANGALORE-99
1T PUCI QUATERLY EXAM -AUGUST 2019

TIME: 1.40 Hrs SUB : ECONOMICS Marks:50
PART - A
I. Answer the fo!lowmg questions. (Each question caries one mark) 1X5 =5

1. When the supply curve is vertical the elasticity of supply is
a)es=l  b)es>l c¢) es=0 d) es=w
mq@ Seanodn ©0LROITTNTIYN mqjﬁ ?&ém@ TEIT

a) es=1 b) es>1 es=0 d) es=
: L Gt el Xy
2. The firm earns super normal profit as long as the price is greater than the mi g
™~

BSodn B FUNS BYPR B WEIYOI BeRNAIJOR VT PLENW wxH A
g A LiBRary o
mﬁﬁﬁﬁj r‘i@m@ﬁ S"Acc N V4,
a) Marginal cost b) Average cost z (e, T )1-* F
AeRR0T [, XOIRO WY : 1\ B ;5?;
' \ </
¢) Total cost d) Fixed cost \ __"' “\. 9 //., ; /
, W -J_, o
w5 A° P o4
3. Marginal product and average product curves are.............in shape. \—_ﬁ/
AEWPOZ T, B BT9ZO TeLBRICHER Shpleialshby
4. It is assured that, in a perfectly competitive marketan .......... is at play.
TOTpreF Tt BRUWTLHODY ............... TOOIRF BOHBODY AIT 0
NRBLICIAS)

5. What is price floor?
8BS NE 20089

I1. Match the following : _ 1X5=5§
A B
1. Unitary elasticity of demand 1.Attraction of new firms
2. TFC+TVC 2. ed=1
3. Normal profit. 3. TC
4. Possibility of supernormal profit. 4. Operation of invisible hand.
5. Adam smith 5. Zero profit
1) B0RIRT PFelE xéén%asg . Bz w%ﬁ}ﬁ%ﬁ SRF s
2y TRC+IVL 2. ed=1
3) mm% [SHEN] 31
4) CRBRT, optATA] xp’éi 450000 gé FOOIRF BT
5) v@one 5.308, Wi
PART -B
II. Answer any 4 of the following questions in about 4 sentences. 2x4=8

6. What are the differences between budget line and budget set?
W desl WP WA ReenYT ITUINTRH?




7. What are long run costs?
DegrRrsd SPnse cl[Y?

8. Give the meaning of shut down point.
r&n:!éod: VOWVIT VTPFID, KB,
9. Give the meaning of price elasticity of supply and write its formula.
B3 JRgF A4S MTIID OTFIW, DB W, VBT ARITH, WD,
10. Define equilibrium price and quantity.
ADBReoT 8BS DI TRPOTZ), TWATZIA.
11. What is marginal revenue product of labour? (MRP)
T 2e[TOZT STRCR WFF, F0TTER ?

112. How wage is determined in the labour market?
BT SRR 309 FeR AgeroImrn3n?

E PART -C
II1. Answer Any 4 of the following in about 12 sentences. 4X4=16
13. Briefly explain the central problems of an economy.
2,00 SHFIBOD FeoReod IDAAYI, YoZToN DTJOA.

14. Write the differences between substitutes and complements.
WBO TOB WD) TRTT ITRNY SBDOT JIR S9A.
15 Explain TP, AP and MP with the examples.
TP, AP 353 MP Sesine weonva, 392,
16 Explain the determinants of a firm’s supply curve
r;mc%ai} TLBTD airadesﬁ SesdoR DTRF TN, JF[OA.
17 What is the implication of free entry and exit of a firm on market equilibrium

briefly explain.
BRoFHoD Bhdecosn Hed wuQFh PRINY BT T DH) ANFIIL0T

ST DO ROA.
18. Write a table to show the impact of simultaneous shift on equilibrium.
ADEROTT et DIROT IYURY TOBITR, 3ROWH BB, WIWWD.
PART -D
IV. Answer Any 2 of the following in about 20 sentences. 6X2=12
19. Explain the movement along the demand curve and shift in demand curve with the

help of two diagrams.
Bedod TesdodRodNT BUNNW TP e@f Jesdod TYWNHL, SO Jeao

3grnseodn LEoA.

20. A firm’s SMC schedule is shown in the following table. TFC is RS 100. Find TVC,
TC, AVC, and SAC schedule of the firm.
WO mdém guss SMC azo TeIo, B 9N ﬂ.raea%ﬁtﬁg QEFSNG. 2.0
WHEF TUIT {0 2 100 wmn, waR Friw TVC, TC, AVC, @03 SAC Y
DTS TYODRY, BB &HAWD.



Q |0]1 2 3 4 5 6
- | 500 | 300 | 200 | 300 | 500 | 800

SMC
21. Explain the short run supply curve of a firm with the help of diagram.
NT PRIE VB JedE Seadohd), JeanB3n IHICROOT DIJOA.

22. Explain the market equilibrium with the fixed number of firms with the help of

diagram. :
{TFOBOH QT PRIALLOON TRUFECD IDERCOTIN, Jeaoudn ITOROOT
KQTOAD.
Part-E
V. Answer the following assignment and project oriented question. 1X4=4

23. Compute the TR, AR and MR schedules in the following table when market price of

each unit of good is Rs 10.
SR QeRLT XTI Td TUET a:adaﬁtg BS Sr.10 AT L), BTROD, AEWRO3

CTanlew) a:si BOoR0 SooodT @ahReny o"a%asad =R,

Quantity TR MR AR
sold

|l pa|lwl—=o
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TIME: 3 Hr 15 min

I. Choose the correct answer:

SUBJECT—ECONOMICﬁ_
Part- A

1. The formula of production function is

(A) ¢=(L.K)
(©) Y=fx)
NTTT DoWET TR
(A) g=f(L,K)
(©) Y=f(x)

(B) g=d(p)
(D) None of the above

(B) g=d(p)
(D) e canFod vy

2. The value of GDP at the current prevailing price is

(A) Real GDP
(C) Nominal GDP

(B) GDP at factor price
(D) NDP

T78 Y WdSndOs GDP &Py OR

©) 3 GDP end
%) WD 3w GDP

W) wwEEmonny #3ug GDP snd
&) NDP end

3. The revenue per unit of output of a firm is called as

(A) TR
(C) AR

(B) MR
(D) None of the above

2OW0 GVEED PR 3T, WWINT TS TS SZRTIWOT THINT LmRodF)

(A) TR
(C) AR

(B) MR
(D) hed3 cimaytd vy

4. When the price elasticity of demand is more than one, MR has a

(A) Negative value
(C) Constant value

(B) decreasing value
(D) positive value

wedd Sedod R&éﬂ%ﬁﬁ% wd@oa 63213 Qmn MRS aﬁ?md@

¥) WEIFTONLIT
A) ATTNDIT

%) YOBVVTNCHIS
R) GoYsmNDIT

5 In a capitalist country production activities are mainly carried out by

(A) Private enterprises
(C) Planning authorities

(B) government authorities
(D) None of the above

WOTD WORTYTL TeBn NJVTTO wmduﬁndm_l maaqsmn Q=D adﬁnagd

©) AN T zo%nw
3) drexs AT

(B) Fill in the blanks

) XEFOE TWOTS
8) Hedd cIPBe ©y

5X1=5

S is a tax that the government imposes per unit sale of output

................... 3oricdn BwFoy) NIET T FUIC Joord Hed PRT Jortodens.

7. The net contribution made by a firm is called ............
2000 O PUEY IRAT AFY BADACDE v STFER

8. As income increases, the demand curve for normal goods shifts towards........
Slnpleny] &wgdoé mmaa ROBNY wHetd Seadod oo mng mggurlsa%:_!'d.

9. For a price taking firm marginal revenue is equal to ................
20T 230 BT B PBE AeIOI BIRODY i ABRTNDHIS.

10 The monopoly firm’s decision to sell a larger quantity is possible...........
908 FIRT ITHAYR, SR IR ITRRY, PRIB DPFT e Oy

TRdantmn IR LEISTR T~




(C) Match the following 5X1=5

1. Domestic service a. Downward sloping
2. Normal profit b. Stock concept
3. Demand curve ¢. Non-monetary exchange
4. Service of a teacher d. Zero profit
5. Inventory e. Skill
0. 13 dox ¥) QEIDDTNDHI
2. WBRT, oy &) o
a. Bead desd Q) BOTLI JDTHOH
©. 5g¥0 Xed &) &raéé <oy
A STBew T ) &‘3306
(D) Answer the following in a sentence 5X1=5

11. What is market economy? 30888 sHFE3 Sotdesd?
12. Who are economic agents? $9F8% Dz08HRYoRES oipth?
13. Expand CPL. CPI o, o%ox.
14. Give the meaning of oligopoly market. BORTIR, FROTE HouTR?
15. What is depreciation? X38¢ 2otdem?
Part-B

IT Answer any 9 of the following questions in four sentences. 9X2=18
16. What is production possibility frontier? cvsesme MY Mee F0WTeRd?

17. What is MRS? MRS omdez9 :
18. Write the meaning of cost function of the firm? ST JeFows Soudem?
19. Give the meaning of shut down point. In3god WOHRT SPFBI), Ded.

20. Distinguish between excess demand and excess supply.
©08 el Y, BOT URGENY JDDS HIAIH, 5.

21. How price is determined, when fixed number of firms exist in perfect competition.
A0 XoLodh evd T PUENemA Tomeeer Foed Sewsiodd B B
VRF ORI,

22. Mention the requirements of a monopoly market structure.
&Dﬁn‘gﬁbﬁ mmrsg movudod Uﬁdéﬁdﬁﬁab& a9,

23. State the relationship between marginal revenue and price elasticity of demand.
QeSO Lmod DB XY deddod abs:a%mgw FRNT "oworsesh?

24, Who are the macro economic decision makers?
Zon SOFE :ararosoﬂda&h sﬂmmr&mm odth?

25. Mention the conditions needed for profit by a firm under perfect competition.
Balabalolaoly ﬁdmacu abadaﬁ%oﬁg WHEE PUEIROW TPneTen SUEIM
RWODMD cdoxyay?

26. What are the four factors of production? Mention its rewards.
NTETONNSD BRHP? oYY T3Fondd, $oA.

27. Mention the three methods of measuring national income.
EE%'EO.‘SJ SIRODTR), WPTF SRS amanvm_l 302,

28. What do you mean by externalities? Mention its types.
maﬁsndoddem? QPREI, oA
Part-C
ITI. Answer any 7 of the following questions in 12 sentences. 7x4=28

29 Write a short note on a centrally planned economy.
$e0Q0D cleeaid wprsdcd wi opb uTrd wde.



30. Explain the indifference map with a diagram.
Bopaes, Sgoba, Seanugtioodl =0,

31. Write a brief note on returns to scale.
BIPOSNY T@eB Wij, wOm TodT wTed wdcd.

32. Explain the long run costs.
DesrRr IO SYRYRY, Q|oR.

33. Explain the features of perfect competition.
Tomwrer FFioctd SRsEod OBRNYD, DEOR.

34. Write a note on price ceiling and price floor.
BS e M3 B oIS Wi, U WX,

35 Briefly explain the monopolistic competitive market.
mEhoRE BB SROTHOD, TodWTN TON.

36. Calculate TR and MR from the following table.
LA WO I 1IP0I ITIRITY, FoB HAKWD.

g [10702 |3 4715 16 1118 1o 5
P [100 [90 (80 |70 |60 |50 |40 [30 |20 |10

37. Explain the role of the government and household sector in both developed and

developing countries.
aeaa‘,% BRODT EE ) ez;)asu%&w BeInYoB0Y FRFOTE B BIPoW oD

TEBR, L.

38. Explain the circular flow of income of an economy.
LoTh UFEdod FTE0R WOSODR, DFHOA.

39. Illustrate unplanned accumulation and decumulation of inventories with an example.
lReldEpn 3Wdewn Tod FeUoR DI DAIIW, LRECHERCOR IXETARA.

PartD

IV Answer any 4 of the following questions in 20 sentences. 4X6=24

40. Explain the law of diminishing marginal utility with the help of a table and diagram.
BOEND A0 DD WOLDIW, Beed ) TetpuZE ITCHOOT JTOR.

41 Explain the market supply curve with the help of diagram.
Sethey Tedg Seadody, Sesmeudteonnt DFOA.

42. Explain the simultaneous shift of demand and supply curve in perfect competition.
Boerr FFecw! Ipdidob teat D) Aadiod HIROT Ty,
Seanuzneodn QR0

43 Explain the short run equilibrium of a monopolist firm, when the cost of production is
positive by using TR & TC curves with the help of a diagram.

ORIECLY wIREm B FHIFNRN, TR 3 TC Sebrv wedoon L3mm,
emdﬂarn TUED ﬁab&rawsiasma Seooudgtinodn Q=oA.

44. The market demand curve for a commodity and the total cost for a monopoly firm
producing the commodity is given by the schedule below use the information to

calculate the following;
NOSS Wt edd Jesd I PTED PRY LWIOH [T b)) PUTTTD

ST, 8 $9NT UREUCHY RBTING B kIR, HHOM SUNIYHYR, SETRs

Quantity | 0 1 2 3 4 5 6 7 8
Price 52 44 37 31 26 22 19 16 13
TC 10 60 90 100 (102 [105 |[106 |115 | 125




a) The MR &MC schedules. MR &MC woxmes
b) The quantity for which the MR&MC are equal. MR &MC zshsmencha TR
C) The equilibrium quantity and the price of the commodity
QIR IHIREOT TRro Y XS Aabdacos 59
d) The total revenue, total cost and total profit in equilibrium.
FHEREOTTY L) STOOD, why), Wt W, LAY Spia)
45. Explain the macro economic identities.
e, SOFEdch SHIINIR, INO.

46. Explain a numerical example to show that all the three methods of estimating GDP
gives us the same answer.
GDP obs, SHms SRS 20 TR eI ot LIBRI, QeI FoLNTR,
2Re0MT 2OW XoIMIT NTRTHORODT, VFOA.

Part E

V. Answer any 2 of the following 2X5=10

47. Find the missing products in the following table
89N BeeTEIY PROIRG IRV, BoBLROND

Factor 1 TP MP AP

0 0 0 0

1 10 - 10

2 24 - 12

3 40 16 13.33
4 - 10 -

5 - 6 11.2
6 57 1 9.5

48. Compute the TR, AR, MR schedules in the following table when market price of each

unit of goods is Rs 10.
$9R Reachs Seexsag A0S T3 PUE RO B UR.00 AR 1Y ST,

BoORO HrRoD WY 2eRRO3 SWOBNTI, g0 L@BOWD.

Quantity Sold TR MR AR

alwv bW R =D

49. Write a note on demonetization.
toln) amrﬁdﬁdwd w}‘ wgfﬁ 28020,



CHANDAPURA
_ II PUC PREPARATORY EXAM DE( EMBER -20
[ME: 3 Hr 15 min SUBJECT-ECONOMICS

Part- A

Choose the correct answer:
1. A situation where the plans of all co
(A) Inequilibirium situation (B) equilibrium situation
(C) Maximization situation (D) partial equilibrium situation
rddgobes ooy wmeeenr B soriged Ghagriy olpeaddw Bromacddoirba
20w ﬁmﬁed.
v) oIBee0d idaiﬁed o) FahIeeosd ai.'oaded

1) daaeﬁdra zmda!ed de) greris: FhBdeens BAFles
2. Measuring the sum total of all factor payments will be called

nsumers and firms in the market match.

(A) Product method (B) Expenditure method

(C) Income (D) None of the above

oty wosgameoririy wEddy Sedaty Arss drwadd
®) B0, Flaphy] &) .-chi Ao
7) wmeodd a3 dge) cheess odadd vy

3. Value of MPC lies between
(A)1 &2 (B) 0&1
(C) 2&4 (D) 0&5
es) 0 o 1 8 IS =Tt ()

w) 1 5hd) 2 8 Jaddl [dgd
@) 2 BHR) 4 S "B 73
4. The tax which acts as an automatic stabilizer

&) 0 ) 0.5 8 Jbd FDIS

(A) Qualitative income tax (B) Income tax
(C) Quantitative tax (D) proportional income tax
03 sooke ddcada 300 5

gobowoes goad MBIT
) rbmods wmod Joriodend

a) ZoamwesE SorialRnd

e3) esood 28riadzehd
de) gadzamabrbts escroody SBriodehd

between residents and with the rest of

5. The balance of payments record these transactions
the world
(A) Goods (B) Services

(C) Assets _ (D) All of the above
2ri3d 280 Bedrith ) dedad gdQod eldod ddaa, serfodd gdabeoerbIus.

w) OB ) Jealridd

R) 8w ge) sheesd ol ©R
(B) Fill in the blanks 5X1=5

6. oo is @ s€L OF arrangements where eco nomic agents can freely exchange their

endowments or products with each other.
020G T gamﬁm dgd Sady, OO g

Frobdeu)s dsaiﬁrlﬁ' Femae0d.

o eoIayivaly, dogaen ddabad

7. ¢Y shows the dependence of consumption Of......coccx-e
eY .inenen.. EOEOS wabeleeria wavondobay, 2pe0XIT.
B coonppsiisarvine Tries to address situation facing the economy as whole.

zbe adeE30b pariarida, DFD0NTEV Zob3 I,




9. Non-paying users of public goods are KNOWN @S -.ouvuvasennes

2o DoRIVT WOBEBIT Adsorty ¥sreodry, oo sdadodedd.
10 The Bretton woods conference held in the year.........-

Sedesie eleunt B Sy FdowD.

............

(C) Match the following 5X1=5
1. Repurchase agreement ay-¢
2. Savings b Down ward sloping curve
3.SDR ¢.Operation of invisible hand
4. Demand curve d. Repo
5. Adam smith e. Paper gold
0. B OO LTV &) y-C
3. PuPTVOD g) Qe GeB
. SDR ) Tord §
Q. Bead Sesd g1) Ot _
% wdo 4T ov) TG B8, W/
(D) Answer the following in a sentence 5X1=5
11. What is normative economics? SRTO acﬁn:-af_) 20007
12. What do you mean by indifference curve? Bopacs, =8 Cesd Q0TBeD 7
13. What do you mean by wage rate? de9 §Y aoudes ?
14. Write the cquation of GVA at market prices.
Srcigy S80vY GVA ob zavegdeasn, 20000
15. Give the meaning of managed floating 7
adc@me Brodidod ©BE eb.
Part-B
9X2=

I1 Answer any 9 of the following questions in four sentences.
16. Give the meaning of short run and long run. BRI L DeTFF S0

17 Mention the two determinants of supply curve. Bed;8 deaSod> @dd dEREGTHYRD, FTO.
18. What do you mean by price elasticity of demand? 3¢5 el d .g.aa@assg el ats oY)

19. Mention the conditions needed for profit by a firm under perfect competition. W
DOTRRF ﬁéﬂmu SwcdiohY 20T T Tusgpoth CRPEE, nexen

ORIATT TORAVER, 394
20. Define equilibrium price and quantity. thineod B8 DB TRREATE, 0, RA
21. Write the features of monopoly. Q¥R RRoEEod OgRYEY, 28000,

22. Distinguish between stock and flow. With the example
o & BOD) 3D IR, somngicinodn DWEOA.

23 Give the meaning of CRR and SLR. CRR &% SLR & oge Jed.

24. Give the meaning of investment multiplier and write its formula.
08 TorEEs eErsey, M ®H3 ¥ad BRIR, WORO.

25. Write the difference between public provision and public production.
PRFEAE FOWTRR I RRERIE YUHEIOR ﬁbaagdﬁabd_ 39N,

26. Mention the 3 linkages of open economy.
oy ehHridod SR gnoanvay, 39X

27. Why do people demand foreign exchange?
HET OBed DIONTWZ, o ded:a‘gd 9

| e AAARAMICE

HOBORAY uEE RR.



Part-C
_ Answer any 7 of the following questions in 12 sentences. 7x4=28

29 Explain the differences between normal and inferior goods with examples.
ma&naiﬁ E) $9gdr FoBnd IBDIS ﬁﬂméﬁﬁ#m_i QROA.

30. Write a short note on profit maximization of a firm under the following conditions.

(a)P=MC (b) MC must be non-decreasing at Qo
de 2¥AR @oRrigdody m)d'sd: Fuds vedd riquasa’naea.h o} Rosa egdoba,

edond. (a)P-MC (b) MC od» Qo Bgg AwFoIRHLPHOY.
31. What is the implication of free entry and exit of firm on market equilibrium? briefly

explain.
SPEod MIRCOTT B¢ s FUENY w0 T$es DB, dFHI00T VIO

ZoroshileD 7 :iogagaan Fatnis)

32. Explain how the firms behave in oligopoly.
goad wayEe eotiged glasrit e} B3¢ W3S 0B, HTOL.

33, Explain the features of perfect competition.
SoTReeF aﬁda&racu SRsLiod BRI, DTOR.

34, Explain the examples of planned accumulation and decumulation of inventories.
Sabeen T odeertd XOMEBE WK WAIIN, oTREIHOMR0DT DO

35. Briefly explain the functions of RBL. RBI Soohenie, Xoggmon JSOX.

36. Briefly explain the consumption function. eaeleer donday, So§T=N QIOA.

37. Write the chart of the government budget. Gzerdd Sworid B30 Beda, wdond.

18. Write the chart of components of current account.
asoey avesdod ererind duady adand.

39. Briefly explain the effect of an increase in de

market with the help of a diagram
ushony Sediod BYID 28 HATCHT FRIBLIOD See et SORREI,

Sesmuidn AEVODRHOT ZogTmn DWOR.
Part D

IV Answer any 4 of the following questions in 20 sentences.
40. Explain the features of indifference curves with the help of a diagram.
Boedesy 38 Jealdld ogorvay Geooadds xmochbor QFTOA.
41. Suppose the demand and supply curves of wheat are given by.
QD=200-P and QS=120+P

mand for imports in the foreign exchange

4X6=24

(1) Find the equilibrium price

(2) Find the equilibrium quantity of demand and supply

(3) Find the quantity of demand and supply when p~ equilibrium price
(4) Find the quantity of demand and supply when p< equilibrium price

AneQod Srdsy UGt 3Ty Dndsy Aedd dealival, g g¥NF0S Beduond

oochdedgen, Q°=200-p and Q%=120+p

(@) Fdaos USobay, S0k HBODO

(D) FIBPVIT Bed DHTo, TRSBrivab, Fordd HBOD.

(%) p> sehdetod tSotnoer dsbdrend Pead whHx) BedBrivad, gor HBOND
(&) p _ninews Wdolnoet SEbdoeud dedd by SedBrvay, sod 28000

42. Write down the limitations of using GDP as an index of welfare of a country.
GDP by, 2,080 Besd olperigeshd RpgosmoN 248 D3T 203rid, 290%08.




43. Explain the short run equilibrium of 2 monopolist firm, when the cost of production is
Positive by using TR & TC curves with the help of a diagram.
Shpal ) LURBTR dz's_! ﬁmst%mnm%ﬁ. TR 23 TC Bezdnis wY¥BoOT aﬁmdcoé
G Pt FHARUTIW, Seamnadzndecdn HEON.
44. Write the story of gold smith Lala on the process of deposit and loan creation by
commercial banks.
ey decded P Too dEnee Fgaobob sbed 3dme0 wewed Frlabab, 2dond.
45. Explain the classification of receipts.
Reg 3¢ INFeBseTR, DTOK,

46. Briefly explain the foreign exchange market with fixed exchange rates with the help of

a diagram.
Jearne336 Azechclrodi gualzbob Fdady aded Hdabab dedFdoba, HPOL.
Part E
V. Answer any 2 of the following 2X5=10

47. A consumer wants to consume 2 goods. The price of banana is Rs 5 and the price of
Mango is Rs 10. The consumer income is Rs 40
(1) How much bananas can the consumer if he spend his entire income on that good?
(2) How much Mangos can the consumer if he spend his entire income on that good?
(3) Is the slope of budget line is downward or upward.
(4) Are the bundles on the budget line equal to the consumer’s income or not?
(5) If you want to have more of bananas you have to give up Mangoes.

2g) sbeleeholy oddd ATTNTI, ebaleenzon bz, DodBds 23

de. 4 sH3) FRIT BPS S de 5 8N, wbaleeNod umecd de.20 SN, s
g¥NFanurt evdda.

() wabeleenodn 31, RoResr wweobuah, WLHF Hehod o, eYsm,ns Boeed
ereyBeaFl), erbelaeHTB)

(2)) wabeleenodn BF, Hogpms SHACLTN, BEHF TRAGE ), HRITBRLAY)
wabaleehTamch 7

() wiés deddod BP0 FYRvw OF heemTondgdiobe ?

(B) Wty dealadh aheod ooy Jooleeadnd wabgleehod STROLE, ﬁa&:mhdx%.be
wpoe agae

() 0t LT, BehHdaind Sdobey DRI B, vepdedlerordId. F
mdole ?

48. Prepare a budget on monthly income and expenditure of your family.
ey, Boewoad Seds wmeod D) Je3rivie¥rinod eomb aworid Sga,

Boded.
49. Name the currencies of any five countries of the followig.

USA, UK, Germany, Japan, China, Argentina, UAE, Bangladesh, Russia.
B 39AT cinPYoesd: oo Be3nd FEINYH, TR0

O%0. D%, CI0.8., CIV.D.B, BEFR, HIRT, BT, wArodI, WeoTRTE, IR
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Part- A

I. Cheose the correct answer: 5X1=5
1. The consumption bundles that are available to the consumer depend on
(A) colour & shape (B) Price and income

(C) Income & quality (D) None of the above
wabaleee) sosabd oot Socireadcs, aR)dd) waoomdd.

) 2 D) ez0 &) 83 ) soeab
a) swecd D) theaby k) heesd alealch ©9
2. When the supply curve is vertical the elasticity of supply is

(A) es=1 (B) es>1

(C)es=0 (D es=xo0
B3 Sedaly eoeroddmangs deE SexgEEdd

o) es=1 B) es>1

=) es=0 Be) £s=w

3. As a result of increase in the number of firms there is an increase in supply, then supply curve

(A) Shifts towards left (B) Shifts towards right
(c) Shifts towards both sides (D) None of the above
evcieh Fuads Sodobes dgud Somdme edd Saprbad, e 2edd Sedab
o) 263 syuleggo 8) 203 sguegdd
B) ood B Sgescdiengd ek) aleadde oY
4, A market structure which produces heterogeneous products is calied
(A)Monopoly (B) Monopolistic competition
(C) Perl=ct competition (D) None of the above
wededans IdadEdy evsgems ey sodadabaly SeddEth.
©) gty &) sgyolns Steen
|) Soziees Jeew ge) shews obeghde we
5. When demand exceeds the available output under conditions of high level of employment, this may
give rise to
(A)Inflation (B) Deflation
(C) Stabilization (D) None of the above
%) eucdgecabyd sogsabe deadoln wdrchd wggos enzTeret e
®) vzEI0ed wdsed dRedeadd ©) SIHH0RS vz deededgd
a) feeatng vdzed dradedigd &) hewss clRds we)
(B) Fill in the blanks 5X1=5
G. In reality, all economies are..................
TueiDeee) ooy SRESS0R) ... BRESSOEIN.
7. In labour market...............are the suppliers of labour.
gba dechalodes . . . . . . g0 RedBmedoendiend.
& TR=ssanbasan

i 1L S —

—




D o sesaiaisai will be called as firms
........ Ty evded Busddocd «om Sdobouhga.
1 is defined as addition to the stock of physical stock.

(C) Match the following 5X1=5
1 Domestic service a.Attraction of new firms
2. Possibility of supernormal profit b. Non- monetary exchange
3. Raw material ¢. Zero profit
4. Floating exchange d. Intermediate good
5. Normal profit e. Flexible exchange rate
1. o 2 o) 323 egbod gl
2. weainay 0Id TogkS &) Be0s3 aoshab
3. e Heehp }) gy 0oa
4. 3eend arebob 3 ee) dg@ar S0
5. woaivos) o) o0) aCoechs avabob G
(D) Answer the following in a sentence 5X1=5
11. What is micro economics? Rag, @@eeeg aoddesh?
12. What do you mean by total product? 2.y evds; sosdesd ?
13. What is duopoly? g exdwgdy ooddesd ?
14. Name the well-known work of Adam smith. wdo §3050 gbg gzab B<desh ?
15. Who are free riders? @& saecdoud aded) ?
Part-B
9X2=18

I1 Answer any 9 of the following questions in four sentences.
16. What is monotonic preference? o383 e.ed) oordesd ?
17 State the law of demand. Jead sobzbad) ssd.
18. What is isoquant ? Ssbevgda) oocdesd ?
19. Give the meaning of shutdown point. Fn3a sochas ede 388.
20. How wage is determined in the labour market? gzba abechagiabig eeesod TS der3 uHeSaechE.

21. State the meaning of average revenue and marginal revenue.
oo emecd D) declros sweobd Ve 3Bd.

22. What is the difference between consumer goods and capital goods?
aotaee 00 D) ebden FoiE ddad dEyEdead ?

23. Write the difference between nominal and real GDP?
e deg aba) J GDP 0 Sbas szl adowe.

24. Mention the motives of demand for money.
Bad deadab evglegdiualy s8d.

25. Give the meaning of investment multiplier and write its formula.
Be0d oSt epcay vee D) ood Jegdy adowe.

26. Give the meaning of paradox of thrift.

mé;gobd adregezesd wread) &ed



27. Distinguish between surplus budget and deficit budget.
2hd dwodd 33 e e duotad B8 Sdhad HEesddy sud.

28. Distinguish between current account and capital account.
asorg w8 2bd) wodaed TR0 ST EyRdEedd?
29. What are the types of balance of trade
s Zesad sy ado.
Part-C
111. Answer any 7 of the following questions in 12 sentences. 7x4=28
30. Briefly explain, how the family farm, weaver teacher can use their resources to fulfill their
needs in a simple economy.
200 308 saeESaing S Bewow, Jezeo,dgEch Josgpoel 288 Bec} Sak), wcigpey Sedmegd
QoBy VoLHTE dBOS.
31. Briefly explain the budget set with the help of a diagram.
o Cesial) Seapagdnons? HTOS.
32. Write a note on returns to scale.
Sevecd gaeen oy egdabay adowe.
33. Explain TP, AP and MP with the examples.
2.3) evg, FORRO eV id) &ecpod BvdHiEsy emescs Bbd aZOd.
34, Explain the determinants of a firm’s supply curve.
evcEh gzt aed;d Sedod SoerCEnER) 280,
35. Write about shutdown point, normal profit and break-even point.
;ge;dgoi) wotd, Headesl o2 @Hdy aid)cgm aohoEay wo 20200,
36. Briefly explain in what way macro economics is different from micro economics.
e wgeTRy) Jeg, SUeTRgL0S obed @esabey PREROE HoCHY VoD HTIOD.
37. Explain the circular flow of income of an economy.
2.0th s@radoh smeobd FEysedd dodobd)y audod.
38. Write a note on externalities. zeR@csdy 203 2.00h 6 200o.
39, Briefly explain consumption function.
wabeleer wonBsaly Joggaee) DBOD.
40. Write the chart of components of capital account.
podaed edod Sesdy adowe.
Part D
IV Answer any 4 of the following questions in 20 sentences. 4X6=24
41. Explain the market demand with the help of diagram.
aechg] Seadabay dempagnd swechaod ados.
42. Explain the market equilibrium with the fixed number of firms along with the diagram.
&3 Rodlob evgeb zuztdeont drdizeab Db dpeedsady Seasgiroac 208,
43. The market demand curve for a commodity and the total cost for a monopoly firm producing the
commodity is given by the schedule below. Use the information to calculate the following.
308 aechsy dead Sedd cha) evged Taed s JO& 263 evsgcive agaly 2edopend. away
sgos desHuda) 07 Bes.
Quantity | 0 1 2 3 4 5 6 7 8
Price 52 |44 |36 |31 [26 [22 |19 [16 [13
Total 10 |60 [90 |[100 | 102 [105 | 109 | 115 | 125
cost




(a) The MR and MC schedules. MR &b@) MC sabiea

(b) The quantity for which the MR&MC are equal.obea Zimacy MR =h3) MC teb Sshaeachga.

(¢) The equilibrium quantity of output and the equilibrium price of the commodity.
s Shdeeod Zane D) I08 Sehdeeed B,

(d) The total revenue, total profit in equilibrium.
Thdreonide 2y saeab, 243y 3 S ecy v,

(For blind students only) explain short run equilibrium of the monopolist firm with zero cost

44. Explain the macro economic identities.
Babg s wBoLs) 8308,
45. Explain the functions of money and how does money overcome the short comings of barter
system.

2a0 obevEdy 2308? D) Bed Berd Tow dvab Sgsab Urertidd) STOD) 38L.

46. Explain the classification of expenditure.

g deresOray adod.

47. Write a note on balance of payments.
Tomead Wesab a0} Bgd adowe.

Part E

V. Answer any 2 of the following 2X5=10

48. Find the missing products in the following table.
gk S Aeegade sedaind evgrieal Sodbacwe.

Factor TP MP AP

0 0 0 0

1 10 - 10

2 24 - 12

3 40 16 13.33
4 - 10 -

5 - 6 11.2
6 57 1 9.5

{for blind students only) Write the meaning of TP, AP and MP
49, write a note on demonitisation.
weeleE0na 27 2.00h 8gd a0owe.
50. Name the currencies of any five countries of the followig.
USA, UK, Germany, Japan, China, Argentina, UAE, Bangladesh, Russia.
e 2o alRgmecd o tegtd sB0E), FI08.
on.oFt.., oln.B., odv.e,a, 2R, 2, ve, edcolTe, ZorRtes, Oy



